[ Efficiency vs vertpos |
~ 0.05

9,045 +-o-veeieeeeen e T
2 : : 5
U e e
(8] . . .
) e :
3 : 5
£ 0.03F oo ST :
0,025 ++oeesrienneeens b :
0.02F -+ P T ;
0.015 ; ;
0.01
0.005
10

Ratio

1.1

10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase
Efficiend —— poMm_CKF_TT retrainOldFiles125_v2_prelimWP3_epoch4

N 0.1:
R A S I S | IR
[ F : : : : :
L R | IR
> o . . . . N
PP U SN S SO SN N |
G007 oo
(8] r B
£0.06F e
(] = .

0.05F -+t

0.04F- ot

0.03F -+++++iee- 1 ity

0.02F++++-fere-{d

.01+ 1t
o Qpbeepd
T C : | i
o F H ] 3

0.8f------ EERRRE (PP 1

oot Ai-FAIHHIE

-30 -20 -10 O 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
> E E E E
00.045F -+ preyees
IS : : : :
:/_)004_ """ FoTTTTTTATeet E’""""E"
$.035
2y
c0.03
[}
8.025
(0]
0.02
0.015
0.01

0.005

..................................

..................................

T
-

A P
-

.................................

v

1.0

T
g
ey

Ratio

T
J
-I-
n
+
it
)

0 IS R [

L N A A EEEEEEEEEEEESREN]

PO -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


